
Math 252: Quiz 1 Fall 2025

Name: / 24

24 points possible; each part is worth 2 points. No aids (book, notes, calculator, phone, etc.) are
permitted. Show all work and use proper notation for full credit. Answers should be in reasonably-
simplified form.

1. [12 points] Compute the derivatives of the following functions.

a. f (q) = arcsin(q)�2q +
1
e

b. f (x) = cos(ax
2 +b) for fixed constants b and c

c. H(t) = t
2.4 ln(2t +1)
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d. f (x) = 5e
x/2 + sin2(x)

e. h(x) =
x+ sin(x)

x+p

f. h(x) =
1
5x

+

p
x

10

2

← ( sinxjd .

chain
rule !

two simple
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2. [12 points] Compute the following antiderivatives (indefinite integrals) and definite integrals. Re-

member that antiderivatives need a “+C”.

a.
Z

sin(2x)+
p

x dx

b.
Z
(6x�5)(1/4)

dx

c.
Z sec2(x)

tan(x)
dx

3

= ffsmczx) t x
ok

basic rules

= Iz cos ( 2x ) t Zz x%tC

U= 6×-5
= tf ut du

-{du=6dx
= f- . Is u¥

+ c

Idu=dx

Like Hw 81.5 # 274
514

= Is (6×-5) to

u=tanX
= f If ← {

du -
. seok DX

= lnlultc = lnltanxltc Like practice
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d.
Z 2x

3 + x
2 �12

x2 dx

e.
Z 0

�1

x

(2+ x)2 dx

f.
Z

e
t

1+ e(2t)
dt

4

= f @x t I -
12×-2) DX simplify first .

= XZTX t 12 I
'

to

2 - l U - I
U=2tX

= S
,

du =*/" I: ,

u - 2 = X

g ! fi'

-2 da = Inu - III ! Like Hw 1.5

= 4hI - ⇒ - ( In 2 - ¥) =  - In (2) t Iz
# 294

= f due ←

get
a- et

Itu
' duet

= arctan ( u ) t C

= arctan ( et ) to HW 81.7 # 424

exactly


